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Question 1:

Differentiate with respect to x,
f(x) =5x%+9x3 — 7x + 28

/%~ 6:1 Bronze Outcome 1

Question 2:

The equation of the parabola shown is of the
formy = k(x + a)(x + b).

y = k(x+a)(x + b)

(2,-4)

What is the equation of this quadratic?

w5

42~ 81 Silver Outcome 2

Question 3:

Find the equation of the straight line which is
perpendicular to the line which makes an
angle of 30°with the positive direction of the
x-axis and which passes through the point
(8,—1).

Ji~ 1:6 Gold Outcome 3
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Question 4:

For what values of x is the function
y = x? - 8x + 9 increasing?

%~ 64 Bronze Outcome 1

Question b:

Triangle DEF has vertices D(-6, -1), E(10, 1)
and F(5, -9).

E(10, 1)
D(-6, -1)

F(5,-9)
(a) Find the equation of the median from F.
(b) Find the equation of the altitude from D.

(c) Find the coordinates of the point of
intersection of these two lines.

1-8 Bronze Outcome 1
1-8 Silver Outcome 2
1-9 Gold Outcome 3
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Question 1:

(a) Given that x + 2 is a factor of

2x* + x* + kx + 2, find the value of &.

(b) Hence solve the equation

2x° + %% + kx + 2 = 0 when k takes this valuc.

2

Question 2:

A function fis defined on the domain
0<x<3byflx)=a-2x"—4x + 6.

Determine the maximum and
minimum values of f.

Question 3:

The diagram shows the graph of y
3)

T
===, >0,
Vv

o;\f;

Find the equation of the tangent at P,
where x =4,

My score:

What have I learned so far 14?

www.rigourmaths.com



http://www.rigourmaths.com/

